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As per the gross classification, the placenta of a
bitch is

(A) Zonary type (B) Discoidal type

() Endothelio-chorial type

(D) Epithelio-chorial type

Quessond: 1
. The mammary gland is an example of
(A) Compound alveolar gland
(B) Compound tubular gland
(€) Compound tubulo-alveolar gland
(D) None of these
Quasson id: 2

The most abundantly distributed connective tissue
fibers are
(A) Collage fibers

(€) Elastic fibers

(B) Reticular fibers
(D) None of these

Questonid -3
Cowper's gland is absent in
(A) Cattle (B) Buffalo
(€) Ram (D) Dog

Cuesson id 4

Oedematous thickening of gall bladder wall of dog
is characteristic of

(A) Canine distemper
(B) Infectious canine hepatitis
(€) Canine leptospirosis (D) Canine pellagra

Queston i |5

Haemoglobinuria is the typical clinical sign of
(A) Trypanosomosis (B) Theileriosis
(€) Babesiosis (D) Anaplasmosis

Cuestion id | 6
Cercarial dermatitis or Rice-paddy itch is caused
by
(A) Cercaria pigmentata (B) Cercaria vitrina

(€) Microcercous cercaria

(D) Fercocercous cercaria

Questionid | 7
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10

1.

12.

13.

14,

A graft between two genetically dissimilar
individuals of same species is termed as
(A) Allograft (B) Isograft
(C) Xenograft (D) Autograft

Question |1 6
Karan Fries breed of cattle was developed at NDRI
by crossing Tharparkar with
(A) Jersey (B) Brown Swiss
(€) Holstein Friesian (D) Short Horn

Queston k19

Extra concentrate diet before and during breeding
season in sheep
(A) Flushing

(€) Steaming up

(B) Challenge feeding
(D) None of these

Question it 10
Milking prior to parturition is called
(A) Pre milking (B) Immature milking

(C) Advance milking (D) Prenating

Question o~ 11
Selection that cannot be used for sex-limited traits
is
(A) Progeny selection  (B) Pedigree selection
(©) Individual selection (D) Family selection

Quostion id: 12

Indigenous cattle breeds possess higher frequency
of

(A) A1 beta-casein gene (B) A2 beta-casein gene
(C) A1l k casein gene (D) A2 k-casein gene

Cuestion o' 13

In Cuboni’s test for pregnancy in mare, the urine is
tested for presence of hormone

(A) eCG (8) OQestrogen
(©) LH (D) Progesterone

Question id : 14
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13.

14.
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16.

16.

7.

18.

18.

(©) Sporadic

The hormone that blocks the uterine contractions
is
(A) Oestrogen

(€) Ergonovine

(B) Progesterone
(D) Prostaglandins

Question I - 15
Which of the following fractions of milk is used for
laboratory investigation for bovine mastitis?
(A) Strict foremilk (B) Foremilk
(C) Mid-stream (D) Strippings

Queston id : 16
A disease that occurs occasionally, singly or in
irregular or random instance is called
(A) Endemic (B) Epidemic
(D) Pandemic

Quession k. 17

Which of the following is an invasive method for
embryo sexing?

(A) Cytogenetic analysis (B) Ultrasound

(€) X-Chromosome quantification

(D) HY antigen

Question i ! 18

Gene therapy, a technique to cure inherited
diseases is done by
(A) Repairing the faulty gene

(B) Adding new cells to the body
(€) Gene mediated hormonal therapy
(D) Introducing the correct copy of gene

Question d: 19

Which fat is called as seam fat ?
(A) Intramuscular (B) Intermuscular

() Subcutaneous (D) All of these

Question ki - 20

16.

17.

18.

19.
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Quesson ld: 15
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Quiontion id - 20
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2.,

23,

24,

25,

(€) Mumtaz Mahal

Indian Railways has introduced a high speed
luxurious train “Tejas Express” that runs from
Mumbai to
(A) Goa
(€) Delhi

(B) Agra
(D) Pune

Quession id: 21
Who became the 14th President of India?
(A) Lalkrishna Advani  (B) Meira Kumar
(€) Ramnath Kovind (D) Pranab Mukherjee

Queston d . 22

Who won the French Open Men's Singles
Champion Trophy 20177
(A) Rafael Nadal

(€) Ryan Harrison

(B} Stan Wawrinka
(D) Robert Farah

Queation id ; 23
In whose memory was the Taj Mahal built?
(A) Mehrunnisa (B) Noorjahan
(D) Razia Sultan
Duestonid : 24

Who were the first kings to issue gold coins in
India?

(A) Mauryas
(€) Guptas

(B) Indo-Greeks
(D) Huns

Quostion ba: 29

Who is the supreme commander of the armed
forces of India?
(A) The Chief of the Army Staff

(8) The President
(€) The Prime Minister
(D) The Defence Minister

Question Id : 28

Which of the following is the capital of Andaman
and Nicobar Islands?
(A) Silvassa

(C) Kavaratti

(B) Port Blair
(D) Narcondam

Queuson ki : 27

23.

24.

27,
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28,

31.

Which country launched the first man-made space
satellites in 19577

(A) USSR
(€) Germany

(B) UsA

(D) France

Queston o | 26
Which of the following UN Organisations is
concerned with the welfare of children?

(A) UNESCO (B) UNICEF
() WHO (D) FAO
Queston i 1 29

Which system of numeration is used in
computers?
(A) Decimal (B) Roman
(€) Binary (D) Logarithmic

Queston o X

Rahil walks Northwards. After a while, he turns to
his right and a little further to his left. Finally, after
walking a distance of one kilometre, he turns to
his left again. In which direction is he moving
now?

(A) North

(€) West

(B) South
(D) East

Question i 31
If A+ B means A is the sister of B; A - B means A
is the brother of B; A x B means A is the daughter
of B. Which of the following shows the relation
that E is the maternal uncle of D, if E is a male?
(A)D+F-E (B) DxF+E
(€ D-FxE (D) DxF-E

Queston id : 32

C is A's father's nephew. D is A’s cousin but not
the brother of C. A’s father and C’s father are only
two brothers. How is D related to C?

(A) Father (B) Sister

(C) Mother (D) Aunt

Question id - 33

28.

31.
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Page: 6

Download from www.MsEducationTv.com




35.

37,

28, 33, 31, 36, 34, . Solve the series.
(A) 36 (8) 37
(€) 38 (D) 39
Quesson g : 4

If ALPHA=101.112.116.108.101, what will be the
code for BETA?
(A) 102.105.123.101

() 102.105.120.101

(B) 102.105.121.101
(D) 102.105.119.101

Quesson id - 35
IfA=1,B=3,C=6, then F=?
(A) 19 (8) 22
(©) 20 (D) 21

Question id : 36

If LBAEHC is the code for BLEACH, then which of
the following is coded as NBOLZKMH?
(A) OBNKZLHM (B) BNLOKZHM

(C) LOBNHMKZ (D) OCPMALNI

Cuonton i : 37

A man is 24 years older than his son. In two years,
his age will be twice the age of his son. The
present age of his son is:
(A) 14

€) 20

(8) 18
(D) 22
Quoston id | 36
AIRCRAFT: TRANSPORT :: NEWSPAPER :?
(A) TYPING (B) PUBLISHING

(C) EDITOR (D) NEWSROOM

Queston id - 39
The sum of ages of 5 children born at the intervals
of 3 years each is 50 years. What is the age of the
youngest child?
(A) 4

(€ 10

() 8
(D) None

Question - 40 I
)

a7.

38.

39.

28, 43; 91 56 34 .39 9ot @ '

il
(A) 28 (B) 37
(C) a8 (D) 39

Quesson fa: 34
afd ALPHA=101.112.116.108.101, & BETA & fiv
1 FT B?

(B) 102.105.121.101
(D} 102.105.119.101

(A) 102.105.123.101
(©) 102.105.120.101

Chpmticn I 55
g A=1,B=3C=6 s F=?
(A) 10 (8) 22
(€} 20 (@) 21

Quession . 38

ufe LBAEHC ®l¢ @ BLEACH & fary, &t f=r
§ ¥ f58 NBOLZKMH & %9 ¥ =ifea fem
T &2

(A) OBNKZLHM
() LOBNHMKZ

(8) BNLOKZHM

(D) OCPMALNI
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(A) 14 (8) 18

(€) 20 (D) 22

AIRCRAFT: TRANSPORT :: NEWSPAPER :?

(A} TYPING (8) PUBLISHING

(© EDITOR (D) NEWSROOM
Chissson id 39
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Cupsson Id - 40
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41,

42.

A) x?—7x+12

A quadratic polynomial, whose zerces are 3 and 4
is
(B) x*+7x+12

(€ x%47x-12 (D) None of these

Question ki : 41

If the HCF of 65 and 117 is expressible in the form
65m - 117, then the value of mis
(A 2 (8) 3

(€ 4 (D) None of these
Quogstion i . 42

If the lines given by 3x+2ky=2and

2x + 10y = 4are parallel, then the value of kis

(A) 5 (B) 15

(€ 10 (D) None of these
F——

Is the triangle with sides 3 cm, 4 cm and 10 cm a
right angle triangle?
(A) Yes

(B) Yes if we replace 10 cm by 5 ¢m
(€) Yes if we replace 3 cm by 9 cm
(D) None of these

Question ki - 44
Navin has ¥ 9000 in a savings account that earns
10% annually.The interest is not

compounded.How much will he have in 2years?
(A) 10,800 (B) 11,800
(©) 10,500 (D) 10,000

Question id: 45
Renu sold sofa at loss of 8%. She bought sofa for 2
8000. What could be her selling prize now?
(A) 7430 (8) 7360

() 7550 (D) None of these

Guestion ki - 46

41.

42.

45,

e fEundly qgvdt Red ga 3 ok 4 €, @@
&

(A  x2—7x+12 (B) x?47x+12
© x*+7x-12 0) g=H | H1E T8
Question ig: 41

g 65 AR 117 I HETw FENUGAS
55,,,_11735“@#?:91?&16(%%.#[ m

BT AH 8

(A 2 (B) 3

(€ 4 O 74 4 B1E &
Cuwsson Id - 42

A x4 2ky=23R  2xp10p=48R &

T§ Y@ GAOR €, @ @ A

(A) 5 (8) 15

© 10 ©) 39 | B &l
Quogton ki 43

13 cm, 4 cm 3R 10 cm G G e
TS By 8 wear &7
(A) &F
(8) & afd &9 10 cm®’ 5 cmaw & |
(€ & ¥ &9 3cma! ocm T T
(D) 59 & &5 =&l
Question ki | &4
T4 & §99 @A ¥ T 9000 &, o e 10%

o @ § mmﬂﬁéla‘raﬁﬁ
mwﬁmﬁm
(A) 10,800

() 10,500

(B} 11,800
(©) 10,000

Cuesbon ki | 45

T 8% TR W W ¥ | SN AT 2
8000 ¥ T frar a1 | IuH RAwy @ oph

w1 gri?
(A) 7430 (B) 7360
(€) 7550 D) =9 | &1 =&
Quesson id - 46
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47.

49,

9.

Put these numbers in order from greatest to least.

13 1
—=,52:—
24’ 3
(Alliszl (8) 113
ke gl 2
2’4 3 333 5

g 11X 3 D 11
© 3':’5‘2‘4 ©) 5.2:—:5:5

Quention ki 47
Find the area of triangle with base 3 ¢cm and
height 4 cm.
(A) 6em B) 6cm?
© 12om (D) 12 em?

Question ki : 48

How many two digit natural number in which the
sum of the digits is equal to 97

(A) 8 (8) 7
(€) 10 (D)9
Question i 148
What is the value of
911 % 1111
11°x 97
(A) 9801 (8) 9802
(€) 9804 (D) none of these
Queston i : 50
Scientific name of Human is
(A) Homo habilis (8) Homo sapiens
(€) Homo erectus
(D) Homo neanderthalensis
Question ki 51

A potted plant kept in a room tends to bend
towards the direction of light. This movement is
called

(A) Photographism

(€) Photoperiodism

(B) Photonastism
(D) Phototropism
Queston id - 52

Haemoglobin is a type of
(A) Carbohydrate

(€) Vitamin

(B) Skin pigment
(D) Respiratory pigment

Quonon id : 53

47.

48.

49.

51,

53.

¥ Wi B AeTH W E HH W Y |

13531
2’4 3
N Ligal B ' 143
_’“l_lz
L ™ 3245
€ 11,53 D §.1
373523 - 5-2;-;'2-;5

Quoston d : 47

3 cm MR 3R 4 cm FAE g By @
& B

(A)  6em
(C)

(8)
(D)

6 cm?®

12em 12 cm?

Quesson ki 48

q I B Ul W@ Red o B am
9¢, 98 &

(A) 8 (8) 7
(€ 10 (o) 9
Queston id - 49
911 % 1111
11% x 99
(A) o801 (8) 9802
(€) 9304 (D) 379 &4 HIE &
Cusstion ki | 50
7 B ;e T & |
(A) = efafer (8) g1 Wiy
© s Reew (D) gM1 Fv~evdeiftg

e S T § e den gery 4t Rer F
gsm(m)%lwvﬁamm)aﬁm

(A) FrEemftras (B) BIEHRETTH
€ wrenRsfesm (D) B
Question i | 52
TR 8 v yeR @
(A) wElEESe (8) wm=n e
(© fFefe (D) g oI
Question k. 53
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- Light has a tendency to bend around it and not
propagation in a straight line. This effect is known
as

(A) Reflection

(€) Refraction

(B) Diffraction
(D) Splitting
Chignton id - 54

- In our country the potential difference between
Live wire and Neutral wire is

(A) 340 v (B) 440V
(©) 220v (D) 180V
CQueston kd : 55
L is called the country of winds.
(A) Denmark (B) Germany
(C) Japan (D) India
Queston I | 56

- A rainbow is always formed in a/an
direction to that of the Sun.

(A) Opposite (B) Same
(€) Cross (D) Inverted
Queston o | 57
: is not homogenous.
(A) Suspension (B) Colloid
(€) Vinegar (D) Solution
Queation ki | 58
- Name a metal which is soft.
(A) Iron (B) Osmium
(©) Sodium (D) Titanium
Question ki :53
- Propanone is a three Carbon compound with
functional group |
(A) Carboxylic acid (B) Aldehyde
(©) Ketone (D) Alcohol
Question id: 60

55.

57.

Here & g et @ F T wen gy o oi-
U e @ ugft @t & | g wwE S e
&

(A) ot (8) faact
(€ ggd+ (0) @SR

Question id: 5

9 Q¥ ¥ Widd OR 9T SerdN OR & ey
fvaiew &

(A) 340 Vv (8) 440 v
(€ 220 v (D) 180 V
Quesson k1 55
B YTA! B ¥ BRI T |
(A) Z7arh (8) Wi
(€) S (D) wrRa
Quessan ki - 56

Uh §-ugy B9 R @1 R &
feen 3 Affa g 2 |

(A) fadsr (8) wH=
(©) frfs (D) Jeret
Questor ki . 5T
969 (GH) T8 8
(A) o= (B) pfer
(C) fawe (D) fAsas
S 9T BT AT TEY A g & |
(A) &g (8) aiifaw
©) aifsgm (D) ergefum
UHE e dF aEe O & Rrrer ot
(A) wEifafas e (B) vedess
€ fHem (D) vemIETe
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61.

Select the word or group of word from the
following that is most similar in meaning to the
word in Capital Letters.

EXQUISITE
(A) Highly refined (B) Too costly
(©) Extemporaneous (D) Exotic

Queston i 61

Select the word or group of words from the
following that is most similar in meaning to the
word in Capital Letters.
WRESTED

(A) Took by force

() Lost narrowly

(B) Took away easily
(D) Won easily

Quonton if - 62

Select the word or group of words from the
following that is opposite in meaning to the word
in Capital Letters.

SHALLOW
(A) high (B) hidden
(€) hollow (D) deep

Queston ld | 63

Select the word or group of words from the
following that is opposite in meaning to the word
in Capital Letters.

FIERCE
(A) gentle (B) violent
(€) inactive (D) careful

Question bd: 4

In the following question, four alternatives are
given for the Idiom/Phrase bold in the sentence.
Choose the alternative which best expresses the
meaning of the Idiom/Phrase.

He spoke well though it was his maiden speech.
(A) first speech (B) long speech

(€) brief speech (D) emotional speech

Queston Id 64

66.

67.

70.

In the following question, four alternatives are
given for the Idiom/Phrase bold in the sentence.
Choose the alternative which best expresses the
meaning of the |diom/Phrase.

| do not see eye to eye with you in this matter.

(A) To have the same eyesight

(B) To give a correct decision
(€) To have the same opinion
(D) To obtain suitable punishment

Question la - B8
Give one word substitute for the following
expression:
A person who is above hundred years.
(A) Maiden () Aristocracy
(€) Centenarian (D) Optimist

Cueston i | 87

Give one word substitute for the following
expression:
One who speaks less.
(A) Reticent

(C) Fatalist

(8) Epitaph
(D) Glutton

Charstion ki ;68
Supply suitable article in the following blank if
needed:

The only sport we enjoy is hockey.

(A) a (B) an

(€) the (D) no article needed.
Querstion ks - 59

Supply suitable article in the following blank if
needed.

| left it at office.

(A) a (8) an

(©) the (D) no article needed.
Quesihon k4 ; 70
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T

72.

74.

75.

RFTR Y &1 Af-fese & 79. NIEN GHG B P 9 GO 22

(A) H+amaT (B) w3 (A) seadtarg T (B) SRRy qAN

© 3R (0) e € whrg we (0) f W iy 1
T . P @ P v @t o wE &

e v BT qaiyard T8 & (A) arsfa (8) vt

& &) i (© e (0) R

€@ e (D) T Queston ki 80

fvielt wrg 1 vafgar &

(A) gRmER (B) aferst
(€) ordt (D) i@y
Wlld v &7 fAeim &

(A) wrds (B) sEoi®

(€) seiifers (D) amyfew
Y e BT R ey § @ o a1 20
(A) ffor (8) s

(€) wvgs (D) g=rge

HF W YRR Al BT BT ol 2
(A) g 9 & (B) H&R1 S
© R w9 wme P

(0) RHAF &1 =1 HRen

AW F AW ERE & Tw deRE @ g
ot &

(A) FHa™ B (®) zfy 7 89 2
(© 3™ iR Tt &) a9

(D) e wmr &

BTl TS FT GHE HSr F B AT PR 22

(A) w9F IedER (B) 7% scioR

€ Iqurs e (D) IUHT 3B
Queston id: TE
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81

83.

87.

Who was the ruler of Rewari during the period of
famous Mughal Emperor Akbar?
(A) Rao Tula Ram (B) Karna Singh

(©) Hemchandra (Hemu) (D) Fool Singh

Queston i 41
In which district Barkhal Lake is situated?
(A) Gurugram (B) Bhiwani
(€) Faridabad (D) Rohtak
Question ki : B2

How many total number of seats are there in
Haryana Legislative Assembly?
(A) 75 (B) 80

(©) 85 (D) 90
Question k- 5
The first Legislative Assembly was formed in

Haryana in the year
(A) 1972

(€) 1960

(8) 1966
(D) 1968

Quesstion ki . 84

In which one of the following places Kalpana
Chawla was born?

(A) Karnal (B) Panipat
(€) Faridabad (D) Gurugram

Quesition ki - 65
Rao Tula Ram was born in which district of
Haryana?
(A) Rewari (B) Mahendragarh
(©) Jhajjar (D) Bhiwani

Quessor ia 88
Where is the High Court of Haryana functioning?
(A) Patiala (B) Chandigarh
(€) Sirsa (D) Gurugram

Quesson id : 57
Mithathal famous for the remains of Indus
Civilization is situated in
(A) Jind district

(€) Bhiwani district

(B) Hisar district

(D) None of these
Quiestion id - B8

81.

8r.

mwwwa‘smﬁWW
UEE BN A

(A) wragemem (B) wvifdig
© &waw @9) D) gafiz
Tvad sie 5 Rt § Rea &2

(A) Tamy (8) =it
(© e (P) s

b

gﬁmwﬁﬁ‘:&wawﬁe’fﬁgﬁrﬁm
.

(a) 75 (8) 80
(C) gs ®) 90

Quiestion id ' B3
fra af & sRamm & pem e g &1 weq
g
(A) 1972 (8) 1966
(©) 1960 (D) 1968

Cuesetion bd 54
P! Al BT S FrEfafee § @ we
W EA 17
(A) wvErE (8) uriug
© wieEE (D) THuH

Quston i 65
Y9 O @1 9 gRaon & 5w Ry F gen
q1?
(A) Y=t (B) wEwg
(© zoR (D) fiarit

Cueesiion i - 86
ERTT B We e BE O3 Hafer &2
(A) yamr (8) #3hrg
(€ fozear (D) THum
Rig awrm & ot & e § whvg Sewm
IRYT &
(A) T e & (B) fRuw frer &
© fhrarh forer & (O) g & @18 &
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9.

95,

When did the Prime Minister inaugurated the
programme ‘Beti Bacho, Beti Padhao in Panipat?

(A) 22nd January, 2015 (B) 2nd October, 2014
(€) 11th September, 2014
(D) 8th March, 2015

Question i ; g
personality belongs to
(B) Theatre

(D) Cinema

Yashpal Sharma is a famous
(A) Agriculture
() Journalism

Quoation id : 9)

Which city of Haryana is known as ‘City of
Weavers'?

(A) Karnal (B) Panipat
(€) Fatehabad (D) None of these
Question k- 51

Le Corbusier, the architect of Chandigarh, was

belongs to which country?

(A) Germany (B) France

(€) Italy (D) Spain

Who was the |ast Hindu ruler of the Delhi

kingdom? :

(A) Harshvardhan (B) Hemchandra

(€) Rao Tularam (D) Mohan Singh
Quession ki &3

The first Novel in Haryanvi was
(A) Jhadufiri (B) Premlahar

() RajaRatnasen (D) Shahi Lakkadhara

Curestion i o4
Which is the official |a nguage of Haryana?
(A) Urdu (B) Gujarati
(€) Hindi (D) Haryanvi
Queston ki : G5

Area-wise, which of the following is largest
district of Haryana?

(A) Bhiwani
(€) Panchkula

(B) Faridabad
(D) Gurugram

Question 96

89

9.

83.

réﬁamaﬁ.aﬁqmaﬁ*mmmmmﬂqa
ﬁ'mwaﬁm%%ﬁaﬁ%mﬂm
(A) 22 s, 2015 (8) » I, 2014

© 1 Ryevar, 2014 (D) 8 H1d, 2015

mwﬁﬁammﬁa’fﬂaé

(&) =y (8) ez
©) uzaRar (D) 7y

Qs ton kt 90
Fﬁaﬁnmaﬁawm-maﬂ?ﬁ?
Ea iG] ??

(A) w31 (8) gritgg
(€ TogEr D) s 9§ #E &
- AR B TRIR A TR B 2w w5
(A) wfst (B) g
€ z=<ft (D) W+
Quesiion i 92
fa=eh ﬁmwmwﬁq%ﬁm
g
(A) zdggs (8) #wavg
(€) <ragemm (D) HrE=fig
Eﬁawr&ﬁqmwwaﬂamm
(A) srgfedt B) InereR
© R 0) W TmER
Cuesson ki G4
%—?fﬁeﬁwnaﬂwmﬁﬁé?
(A) ‘:F: {8) EI\PIQIE“
c =5 (D) eRamr
&% B AR e F @} aRaon o Gk
=1 e a1 a1 29
(A) firarh (8) witemme
(C) EEET (D) vy
Queston Id - 08
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97. Who is brand ambassador of ‘Beti Bachag - Beti
Padhao campaign in Haryana?
(A) Sakshi Malik (B) Pariniti Chopra
(€) PV, Sindhu (D) None of these

Quostion ki ; 7
9. Who is the Forest Minister of Haryana?
(A) Captain Abhimanyu (B) Anil Vij
(©) Rao Narbir Singh (D) Vipul Goel
Question id : g

9. Charkhi Dadri is 22nd district of Haryana, which
fall; under division
(A) Hisar (B) Ambala
(©) Gurugram (D) Rohtak

Quesstion ki : 59
100.In  Haryana Legislative Assembly, who s
Honourable Speaker?
(A) Manoharlal Khattar (8) Kanwar Pal
(©) Anil vij (D) None of these
Quesson it ; 100

7. BV AL qEENAR g IR BT gue

VIR B &9

(A) et Hferes (B) uRfoR e

© & Ry (0) 57 ¥ P 78
%. sRAN @1 77 W B |

A) F=T afmy (8) fer fam

© @ =k Rig (0) Rys e
W-Fﬁmmzzﬁﬁmwmﬁmmﬁ

T s &

(A) fZaR (B) Sigrar

(©) oy ©) JEaw
1m‘€fé‘mrnﬁ'rar~mﬂn$mﬁamaaﬁ=r%?

(A) weveTer weey  (8) avarer

© st fw O) 5% & #1E ¢

Page: 15

Download from www.MsEducationTv.com




